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1. Complete the function diagram to solve
1st sign because it’s inside the bracket
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2. Complete the function diagram to solve

long + sign (like a bracket)

1st sign because the acts
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solvingReady (12) Q1: & =9, Q2: 4 =10, Q3: ® =2, Q4: V=38

1. Complete the function diagram to solve
1st sign because it’s inside the bracket

3T(.1.l5):12 O —— O — O

2. Complete the function diagram to solve

long + sign (like a bracket)

1st sign because the acts
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3. Complete the function diagram to solve
1st sign because it’s inside the bracket

5T<®i4>30 O—=0O=—=0

4. Complete the function diagram to solve

long + sign (like a bracket)

1st sign because the acts
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3. Complete the function diagram to solve
1st sign because it’s inside the bracket
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4. Complete the function diagram to solve
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